Fxomple, Tindh Ho foorier ng%@ Ca@g)-,‘c)t& =

X = cos(at+T/4)

Funod mentad f reqver)cﬁl :

Jw.otk Wo:&:& = Ta-ﬁﬂ

X(ﬂ = z Ck. To |

= (oS8 (36 +7/Ll( LSINg EU(Q"S
F(at+TMs ) ) S(st+ ")

L R/ j&t . 3—71/4[' Tj&t}
TEETR Y e (e

/ [

fe=f b

= 0, %] Ror k=l ¥ k=-I or ”‘C' = ot
frV/zf ' | )
=D K = | GL = Cl = //Q =) (C 7-@ ﬁC! = T//i}

or K(L2)L1+3]- W H—J)]
veynember: Rec+angusar
2/
sy
K= ~1 OK:C% = ‘/ae' Came  Aas C{EJOVQ ]-WT

LA g omg = M@a‘z‘m@ Im. pa'l

i m




j(—;n& 0, %UV‘!—Q'L‘ gQVf% CGQ'Q QQ

Exowple, [
K[t )= Sin 4 e we e
" Tt sin"2t
Mot 2int = @ = Vg €
Remombor - V., = —3/
m e /a N
(1 - =t (3= 6
FTV (3% -
o0 dwo’tk
XY= = 0,6

= t _92% + 5t
S W st A @R
4 4 4(3-3) ‘
_yet 4
- =8 gtel vy
! | 1
\ﬁ=\ k. ==\ \Q-‘-’-&
LG G G
Read Read OC vawe
8, = ] Qg =8 Never vas an phase Gaglt

~ Cre=® K=\, ®

e ————


farahman
Text Box
K=jjjhh 2

farahman
Sticky Note
Marked set by farahman

farahman
Text Box

farahman
Callout
Note that w0 is
2 since we have 
sin^2t


EX&M?\@’ G Find CR{ ¥ w\f\E_tJf R o ¢

X&) =g ut + Snet

VSN A Bolers Lormola :

: 4 » ket
G4t _dqt jé"L I o
()= Jpe + e v e &
0. _Jwitk N
- E Ce @ Nob-owe have to Sind
e e Rond amoita Qrequ@mcg on>
‘Wc?tk th ,ét . - ﬁ“\’i
ConscdQr @f - e x g N Qﬁt e 56t
\ k=3 ¢
:—> WwWle = = °;r( ,:> 7; :H ‘
e}
06 5 &t(k) Tat(z)  -Jat(9 Jat3)  Fat(s)
= X = e - e l I _
20T = € e e - g
| T !
e k=-2 k=3 k=-3
Ca = = /a
C-a=Va = /a |
-3 rier I ‘
Coua - %9 ) ’@63 /9 Borier CoelPicionts o X(fé)
- i W72 Has no De valve
Cootzg - pe
Oe =8 (k[saxa
i we plat the

/ magnitocde of
XE)s Py, spectom




. ‘ 00
Example O Assume  PlhY= = S(L-KT)
P00

p(t)
This s an impolse Hu0n T 1 # T l .
2T, 1, ] T'a 5T t

Find, Fovriee Servies  (ueflcients of X (t).

~. o Juot b
Pitl= = o0 ot whd & Gue?

Pl g 7
e=-or
G af»j%)eij“’% s gk PEIE Z8(-KT has wabesQyy
7673 k=~ ok eviry b
Juwst
- L (Leeye” ot Using jw%wfo}éf te
To
N L Twe(®)
75 To
=> maq- oA i

$req- Sf@dwvn

N whdl happgns 45 T chanﬂesg
- tho_ﬁ e e OC Vﬂ((()@‘?

Jook & Table %3 (R 7o 3wl 5A)
Coge F. In thie C0s€ Xo=1





